
13.1.  New Headway Elementary U13 Fill-in IRREGULAR VERBS 1 PAST SIMPLE p. 182/ BE-COST 

Fill in the past tenses of these verbs into the questions below: 

cost  be  become  come  begin  choose 

break  catch  bring  can  build  buy 

 

1. You ………………… the first one here today or ……………….. you not? 

2. You …………………… a student at this school three years ago, didn´t you? 

3. Your wife ………………………. studying English last year, didn´t she? 

4. Your son ……………………….. his leg last week, didn´t he? 

5. You …………………….. your homework, didn´t you? 

6. They ………………………. the new Congress Centre in Zlín 3 years ago, didn´t they? 

7. Nobody …………………….. the English textbook in a bookshop, did he? 

8. All of you …………………………. do the homework easily or did anybody have any problems? 

9. Who ……………………….. a cold last week? 

10. You ……………………….. this English course yourself or did anybody give you a recommendation? 

11. Nobody ………………………. late today or did I fail to notice? 

12. I am sure your jeans ……………………. at least 1000CZK, am I right? 
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